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QUESTION 1

What is the key benefit of moving away from a centralized ESB pattern to Agile Integration? 

A. Faster roll out of integrations, enhanced scalability, and resilience 

B. Rapid creation of integrations using no-code approach 

C. API-led integration enabling agility and innovation 

D. Multi-cloud deployment of integration artifacts 

Correct Answer: B 

 

QUESTION 2

Which two programming languages are available for the API Developer to use in the API Assemble Panel? 

A. .Net 

B. Java 

C. XSLT 

D. JavaScript 

E. ESQL 

Correct Answer: BD 

 

QUESTION 3

What is a Container? 

A. A small software layer that enables multiple operating systems to run alongside each other 

B. A CI/CD component that automates steps in a software delivery process 

C. An executable unit where application code, libraries and dependencies are packaged 

D. A software engineering approach in which teams produce software in short cycles 

Correct Answer: A 

 

QUESTION 4

Which statement describes Tekton? 

A. It is an integrated OpenStack program which aims to provision bare metal machines from the OpenShift Container
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platform 

B. It is a Block Storage service for providing volumes to virtual machines, bare metal hosts, containers and more 

C. It is an Open Source project that allows provisioning, managing and running virtual machines from and within
Kubernetes environments like OpenShift 

D. It is an open source project that provides a framework to create cloud-native CI/CD pipelines quickly 

Correct Answer: C 

 

QUESTION 5

What does OpenShift use to provide storage to Cloud Pak for Integration components? 

A. Network attached storage 

B. Local disk storage 

C. Persistent volume 

D. Spectrum storage 

Correct Answer: A 
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